23110705

s/ 5 = BgE ==
B 7+ X B & A ~
tf@%ﬁ%mﬁﬁm EA—HX—50~100mm i EATW=V
1. % =
RA—=F =L, F—ANEICRITZFEEIC) — F2 b o PRELEBEICRY 41, TOPMRE

WWAKFEEZTEFPLY CTCHESES, PREOHEGEZHEEK VY, LSI,

BiRFrER D, BlE

PRWEFEFRIETHICL o THHEEL THERLET,
2. £

2-1. EEHE . ;

AR e R ANVEESE (oK ISR EEBLE)

_J_‘/?“"X ................................................ ]:“;(-qz%é‘-ﬁa%%

SEEEE TS5 RF

qutﬁi ................................................... 7"3;(?\)&, }§U 17_5‘7:3,]’]\

%%:L: % ]\ .......................................... 7?%?‘) y 'ﬂ—{_j‘

PEBE R O BE

A K EATW50VQ EATW65YQ EATW75YQ EATW100VR

E H -8500 -8500 -8500 -8500
ERRERITE (Q3) (ut /h) 40 63 100
SHEHHE (Q3,/Q10th) 100

Vi E L = E 5% [0.4~0. 64K 0. 63~1. 008K} 1. 0~1. 6k
(o / h) 2 2% +£2% | 0.64~50.0 1. 008~78. 75 1.6~125
EEL (EREKITEWR) (WPa) 0. 06 3MTF

(%) & (0.1MPa) (of/h) 56. 6 87. 4 95. 5 161. 4
BRHFREREN (MPa) 1

FERWRE 100 EER / H 140 218 345
(/' H) 24P EEs B 250 390 620
E7 # ZN BERT R ELTE R 9 #T

ForRER B/NE & (L) 1

BARFTFE (o) 999999.999

BETAEAIRE C) 30

SRR R EE (C) —10~+55

s Bt S BRI SR

& & < KIEA-p-T S 0 JWMMO0-A08 (FL—)

= =4 (kg) 13 20 22 29

) 1. HEREOEDIC, PERLIAFEEZEFTIZLRHIVETOTITEAT IV,

A OBF

BB M K R & A




